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=7 = A
D AWsnd S345%%
VOCs, HCHO A 273 - IF9@ 4327 B9EE HF 3578 A53A a4 - 1
1 2 3 4 5
=2 2 ) B B
T8N 101% 15043 102% 2033 103% 23043 104% 13043 105% 26013
=44 49 284 49 284 49 284 49 284 49 284
S WA A 2T 07:02 07:01 07:13 07:15 07:22
2= 7| A A ZF 07:41 07:48 07:54 07:59 08:06
= MAAIZE 13:01 13:03 14:11 13:36 15:21
4 FTEAITL 14:02 14:04 15:12 14:37 16:22
Ay ks SR GA g R H5AE
el TS A 54 1 TN a3
SRR 25(C) 20.1 20.1 20.3 20.6 20.5
SA4AH FE(%) 41.2 36.8 48.2 43.1 50.7
A A 715 (m/sec) 0.00 0.00 0.00 0.00 0.00
A 7] (hPa) 1009.4 1014.2 1005.5 1009.8 1003.7
Xl Einsy Ein s Ein s Ein s g
A 13 25.3 22.6 26.4 32.3 40.0
Eddstol= | 71E | . ] ~ 5 .
Form-aldehyde 23] 25.4 22.9 26.4 25.6 40.0
210 | B¢ 25.4 22.8 26.4 29.0 40.0
A 13 4.9 3.3 3.8 2.8 3.0
Wl Al &= ;
s i 1E | oy 3.3 2.9 3.0 3.1 46
enzene
30 | 3¢ 4.1 3.1 3.4 2.9 3.8
A 13 741.6 226.3 402.4 906.7 1168.5
B2 z ;
7 1E | oy 702.7 184.3 384.8 880.1 568.0
Toluene
1000 | B 722.1 205.3 393.6 893.4 868.3
A 13 21.8 9.0 31.2 22.3 25.2
of il Al NE |- o1 . . . o -
Ethyl benzene 23] 21.3 8.2 31.6 22.0 11.5
360 | B 21.5 8.6 31.4 22.2 18.4
A 13 42.7 14.6 35.2 29.2 30.8
A4 NE | s 56 5 ; 5 5
Xylene 23] 42.2 12.4 34.9 27.9 14.2
700 | BF 42.4 13.5 35.1 28.5 22.5
An 13 6.4 7.2 5.7 22.8 18.3
>~E]dl = _
. 1 7! 23 6.4 8.1 4.3 20.8 7.2
Styrene
300 | B¢ 6.4 7.6 5.0 21.8 12.8

# OAEH] T 9= ug/m 9l




VOCs, HCHO 3 A% % - dalg9d@ 34+ B9EY Y F 558 25
6 7 8 9
AN _ _ , - o= = oapg =
106% 302% 107% 130335 108% 301% 108% 230435
=44 49 284 49 284 49 284 49 284
B A A A ZE 07:26 07:33 07:42 07:35
D] 7| A A E 08:12 08:17 08:29 08:24
= MAIAIZE 14:26 16:33 16:01 14:58
4T EAITL 15:27 17:33 17:02 15:59
Ay ek LRl 43 A
e A5 T A 55 3N
SRR 25(C) 20.3 20.7 20.2 20.6
SA4AHE FE(%) 43.4 45.6 41.1 43.9
A A 715 (m/sec) 0.00 0.00 0.00 0.00
A 7] (hPa) 1013.1 1008.6 1013.1 1006.4
A s Ly Liney Einey
A 13 18.9 22.1 18.1 25.2
Egdstol= | 71E | . 51 6 g .
Form-aldehyde 23] 19.0 21.2 18.2 25.8
210 | B¢ 19.0 21.7 18.2 255
A 13 3.7 2.3 2.7 3.0
il 71+ ;
B W 23 3.4 2.8 3.1 2.4
enzene
30 | A 3.5 2.5 2.9 2.7
A 13 954.2 574.5 491.9 495.5
54 7= | .
Toluene 23] 949.8 628.4 484.1 479.1
1000 | B 952.0 601.4 488.0 487.3
A 13 23.4 10.3 10.3 9.4
o & il Al 7= o
Ethyl benzene 23] 22.0 10.7 10.4 8.4
360 | B 22.7 10.5 10.4 8.9
A 13 30.8 14.0 15.6 13.0
A 2l 7= | .
Xylene 23] 28.9 14.9 14.6 11.0
700 | BF 29.8 14.4 15.1 12.0
A 13 29.8 3.7 6.5 4.4
2 Eld 7= -
S 1 1= | 23 247 4.0 8.4 36
Styrene
300 | BF 27.2 3.8 7.4 4.0

% oaEAs 5 99T m/m .
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4. FLHslol= ANEAHF

DAEAHE nUd= 4

SIBATA, JAPAN
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2) HPLC - &< 4|3}9)

& AR = 4
A ZA), A= Shimadzu, Japan
AlE LC-20AD
3=
T 1.0 ml/min
o5 Water : Acetonitrile = 47 : 53
A AL, Az Shimadzu, Japan
Auto Sampler A= SIL-20A
Al I 20 ul
AZAY, A= Shimadzu, Japan
UV/VIS DETECTOR A|E SPD-20A
HE71 360 nm (UV)
A ZAY, A= Shimadzu, Japan
A= CTO-20A
COLUMN OVEN
Column RP-18 GP (5 um)
SEIE 40C




3) ¢ 4|3lo]= Standard £

Z A

-

SIGMA-ALDRICH, USA

Al Formaldehyde DNPH, 1XIML, 100UG/ML, ACN
5 = 100 ug/mL

0.03 ug/ml ~ 0.3 ug/ml 5% AL

HA} + 3 ug/mL
4) DNPH 7}IE@ A 3
7oA = Zal

FEEe]doldlX], Korea

A5 TOP Solid Cartridge DNPH (TS-300)
75 Formaldehyde 10 ng/Cartridge

7] Length 74 mm / Diameter 9 mm
Hyphy 4C g




5) Fgustols RH7Y 5§

2,4-DNPH 7FE&]*|¢} HPLC ¥4% (HCHO £4)) Process

DNPHZ7IEZ]A] X — = N
o | - wame 391 oxrzebisl DNPPRERIAE ool )
l
NERE _ 07 Umin®] 5502 FRIHEE o8] 3024 23] 9 Al 2.
- Hzo] FEAR= 5%0ldl. (A2 Hurgsio] ARS)
l
A ophpy TFEsdR FFEGAE A EE Ahdale] 4 C olee] A1k
o= TLE—L - 7(]‘5_7_0]] E‘__,
l
Alze] AAz - DNPH ZFE&|el] 5 mL cHEUEHS 0|83l =
l
=A71719b g3 - HPLCHAE ol d(EopEHEZ=2:8) 0% fr= ##] Bl 7]71’Pd3},
l
A=A 2 - BlankA5, #5215 578 Alx F- 24ste] A=A 2.
l
Al B - 8% MBS HPLCE ol83le] #4].
l
AN _ ARvkETEe] WA ke el tidsle] sk Ak
T AR, 2 8l 7)Y B




5. LR FEE ARAALN 2 BNz
DAEAHE vYFAZ 74
S ST A H| 31
AZ3IA), Az SIBATA, JAPAN
SE1PY A4 MP-30
718kt A5 2.1L
ANFAIZE 308, 23]
2) GC/MS - &g f7183rE #4717 #4=x4
& A9 7 z 7
AZA}, A ZF= Shimadzu, Japan
AE TD-20
Desorption Temp, Time 280 T, 41 min
g S
Cold trap Temp, Time -10 C, 10 min
(TD) p e
= nes 60 mL/ min
Spilt Ratio 1:1
Tray % 4870 m A&7 s




T = kil
AL, Az Shimadzu, Japan
A= GC-2010 Plus
IR 25 C
QBT 50 C
SHEA] He Gas ($2%= 99.999%)
= 59.5 kPa
T A 2nE 1)) total Flow 75.6 mL/min
(GO Column flow 1.42 ml/min
Spilt Ratio 50 : 1
DB-1 ‘Thickness : 1.00 um
Column Length : 60 m
Diameter @ 0.320 mm
Rat Temperature Hold Time
e () (min)
PR - 50.0 5.00
b H 6.00 230.0 0.00
5.00 250.0 0.00
25.00 260.0 3.00
AZAY, Az Shimadzu, Japan
A% QP-2010 Ultra
AeFE A7 olE]Hjo| A% 240C
MS) oleglen 200C
ol 23y EI(dAto]=3}h

A=)

Scan mode (my/z) 35.00 ~ 350.00




3) 32X 713tgE Standard Gas

A3}, Az

Sk AT A(KRISS), Korea
A58 AVOC F=7F~(Indoor VOC Standard GAS)
X ¢
5

5 umo/mol (V/V)

e 2 mL ~ 80 mL 8% A&
HA} + 3%
4) Tenax Tube T2
T 5 = A
AZ3IA}, AZ=r CAMSCO, USA
A58 CAMSCO Sorbent Tube
7] Length 89 mm / Diameter 6.4 mm
03 A - Ao oy
e Al le_ Ao AR
Mg 2FH F 4T YgR
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sHAlZYE LT T BOSY SHIHE BEF
HEH - R e 40 - 023
1015 1504%
HERE 20.1 °C [ERSE= 41.2 % RS b 1009.4 hPa
AlglZ2z
syd= Zdistol= ey 2,4-DNPHR =4 3t HPLCE2A
(SHIMADZU HPLC LC—20A)
EXHRY Q = Qm=(273+25)/(273+)*P/1013.25 =  21x298/(273+20.1)%1009.4/1013.25 = 21.27 L
AN E L) t = =Z™A 2Z(0) P = Z™A| 7| (hPa)
EHEE Calug/m) = (As = At) xV / Q
BIIMNEE 5= (ug/m) Q = ESAAMEHL) vV = 5mL
= Alze| ZF(ng) At = i Z Al Z 2 S (ng)
ol 5ol = 1 (0.111 = 0.0032) wg/ml x 5 mi = (21.27 £ x m/10°3 4) = 253  ug/m
distol=2 [(0.1113 - 0.0032) wg/m{ x 5 mf + (21.27 £ x m/10°3 &) = 25.4  ug/m
EXHRY Q = Qm=(273+25)/(273+t)*P/1013.25 =  2.1%298/(273+20.1)1009.4/1013.25 = 213 L
AN E L) t = =Z™A 2Z(0) P = Z™A| 7| (hPa)
EdsE Calug/m) = (As — At) / Q
BIIMNEE 5= (ug/m, Q = ESAAMEHEL)
Alze| ZF(ng) At = i ZAIZ 2 S (ng)
& (10.341 - 0) ng x xg/10°3 ng + (2.13 £ x m/10°3 {) = 49  ug/m
g 2 (6.972 = 0) ng x ug/10"3 ng + (2.13 £ x w/10°3 ¢) = 3.3 ug/m
EF0l 1 (1577.295 - 0) ng x xg/10™3 ng + (2.13 £ x m/10™3 £) = 741.6 ug/mw
EF 2 (1494.563 - 0) ng x xg/10™3 ng + (2.13 £ x m/10™3 £) = 702.7 ug/mw
Of| ! &l I 1 (46.386 - 0) ng x wg/10°3 ng + (2.13 £ x m/10°3 4) = 21.8  w/m
Of| SR 2 (45.254 - 0) ng x /10”3 ng + (213 £ x m/10°3 {) = 21.3  w/m
Rtz 1 (90.78 - 0) ng x ug/10"3 ng + (2.13 £ x w/1073 {) = 427 w/m
Al 2 (89.673 - 0) ng x wg/10°3 ng + (2.13 £ x m/10°3 {) = 422 ug/m
AE[3 1 (13.581 - 0) ng x /10”3 ng + (2.13 £ x m/10°3 {) = 6.4  ug/m
AE[” 2 (13.695 - 0) ng x /10”3 ng + (2.13 £ x m/10°3 {) = 6.4  ug/m

(1/9)




SHIZ YR YK T BOZ SHIHF BEF
HEH - R e 40 - 023
1025 203%
sxes 201 °C HAS T 36.8 % &7 et 1014.2 hPa
AlgZ
EYRE Q = Qm=*(273+25)/(273+1)*P/1013.25 =  21%298/(273+20.1)*1014.2/1013.25 = 21.37 L
Qm = A FelFE(L) t = E=™A 2%(T) P = =X Al 7|2 (hPa)
EHEE Calug/m) = (As = At) xV / Q
Ca = BIIMNES 5= (ug/m) Q = EEAMRZ(L) Vo= 5mL
As = A =22 E2Hng) At = i A A2 S2(ng)
2|50 = 1 (0.1 — 0.0032) ug/m{ x 5 mf = (21.37 £ x m /1073 1) = 22.6  ug/m
oo stol= 2 (0.1011 - 0.0032) ug/ml x 5 mf + (21.37 £ x m/1073 ¢) = 22.9  ug/m
EMFHE Q = Qm=*(273+25)/(273+t)xP/1013.25 = 2.1%298/(273+20.1)*1014.2/1013.25 = 2.14 L
Qm = A Fel (L) t = E=™A 2%(C) P = =X Al 7|2 (hPa)
EYdsE Calug/m) = (As — At) / Q
Ca = BIIMNEE 5 (ug/m Q = EEAAMEZL)
As = Alze| ZF(ng) At = i ZAIZ 2 S (ng)
HHIE A (7.095 - 0) ng x #g/10"3 ng + (2.14 £ x m /1073 {) = 3.3 g/ m
HIH 2 (6.144 — 0) ng x xg/10"3 ng + (2.14 { x /1073 ¢) = 2.9 ug/ m’
=50 1 (483.686 — 0) ng x wg/10"3 ng = (2.14 ¢ x m/107°3 ) = 226.3  ug/m
=5 2 (393.865 — 0) ng x wg/10"3 ng = (2.14 ¢ x m/10°3 ) = 184.3  ug/m
Oof &t A (19.172 = 0) ng x xg/1073 ng + (2.14 £ x m/1078 ¢) = 9.0 g/ m
of EIEIFE 2 (17.476 - 0) ng x /1073 ng = (214 { x w/1073 2) = 8.2  u/mw
Al 1 (31.169 - 0) ng x /1073 ng + (2.14 £ x m/1073 ¢) = 14.6  ug/m
A 2 (26.538 — 0) ng x /1073 ng + (2.14 £ x m/1073 ¢) = 12.4  ug/m
AE|3 1 (15.311 = 0) ng x «g/10™3 ng = (214 2 x w/1073 {) = 7.2 g/ m
AE[R 2 (17.223 —= 0) ng x xg/1073 ng + (2.14 £ x m/1078 ¢) = 8.1 g/ m

(2/9)




SIS YR AUX T BIEH SIHE S5F
EH
3
PN Yo 40 - 023
1035 2304%
HERE 20.3 °C HEEE 48.2 % AT 1005.5 hPa

NEEED

2,4-DNPHF =& 2t HPLCEA{ ™

e Sadistol= S8 (SHIMADZU HPLC LC-20A)

R Q = Qm=*(273+25)/(273+t)*P/1013.25 = 21%298/(273+20.3)*1005.5/1013.25 = 2117 L
A EA L) t = E™A 2%(C) P = EXAl 7|2 (hPa)

HsE Calug/m) = (As — At) xV / Q
BIANEE 5= (ug/m) Q = EEAMNZZL) v o= 5mL

= A=l E(ng) At = B2 Al 22| E2(ng)

ol stol = 1 (0.1151 = 0.0032) wg/ml x 5 mf + (21.17 £ x m/1073 {) = 26.4  ug/m

Histol = 2 (0.1149 - 0.0032) ug/ml x 5 mf + (2117 £ x m/107°3 ) = 26.4  ug/m

EdRY Q = Qm=*(273+25)/(273+t)*P/1013.25 =  2.1%298/(273+20.3)*1005.5/1013.25 = 2.12 L
A ZAREHL) t = E™A 2%(C) P = EXAl 7|2 (hPa)

E¥sT Calug/m) = (As — At) / Q
BIANRE 5= (ug/m, Q = EEAAMEZHL)
AlZ2| 2 (ng) At = i A Al 22 Z2(ng)

HHIE A (7.987 — 0) ng x #g/10"3 ng + (2.12 £ x m /1073 {) = 3.8 g/ m

HIE 2 (6.288 — 0) ng x #g/10"3 ng + (2.12 £ x m/1073 {) = 3.0 g/ m

=501 (852.021 - 0) ng x wg/10"3 ng = (2.12 ¢ x m/107°3 ) = 402.4  pg/m

=5 2 (814.853 — 0) ng x wg/10"3 ng = (2.12 ¢ x m/107°3 ) = 384.8  ug/m

Oof &t A (66.015 — 0) ng x /1073 ng + (2.12 £ x m/1073 ¢) = 31.2  ug/m

ol EIA 2 (66.958 — 0) ng x /1073 ng + (2.12 £ x m/1078 ¢) = 31.6 wg/m

Al 1 (74.532 — 0) ng x xg/1073 ng + (2.12 £ x m/1078 ¢) = 35.2 u/m

A 2 (73.982 - 0) ng x xg/1073 ng + (2.12 £ x m/1073 ¢) = 34.9  u/m

AE[> 1 (12.107 = 0) ng x xg/10™3 ng = (2.12 £ x m/10"3 4) = 5.7 ug/ m’

AE[E 2 (9.015 = 0) ng x /1073 ng + (2.12 £ x m/10"3 4) = 43  ug/m

(8/9)




sHAlZYE LT T BOSY SHIHE BEF
HEy - R e 40 - 023
1045 13045
e 20.6 °C RS 43.1 % A 1009.8 hPa
AlglZ2z
syd= Zdistol= =& g 2,4-DNPHR =4 3t HPLCE2A
(SHIMADZU HPLC LC—20A)
EXHRY Q = Qm=(273+25)/(273+)*P/1013.25 =  21x298/(273+20.6)*1009.8/1013.25 = 21.24 L
am = AN E L) t = =Z™A 2Z(0) = Z™A| 7| (hPa)
EHEE Calug/m) = (As = At) xV / Q
Ca = ZIIMNESE 5= (ug/m) Q = SEJAAMZZL) = 5mL
As = A =22 E2Hng) At = i A A2 S2(ng)
Eodslol=1  [(0.1405 - 0.0032) wg/mi x 5 ml + (21.24 £ x m/10°3 4) = 32.3  ug/m
Eodslol=2  [(0.1121 - 0.0032) wg/ml x 5 ml + (21.24 £ x /1073 ) = 256  ug/m
EXHRY Q = Qm=(273+25)/(273+t)*P/1013.25 =  2.1%298/(273+20.6)+1009.8/1013.25 = 212 L
am = AN E L) t = =Z™A 2Z(0) = Z™A| 7| (hPa)
EdsE Calug/m) = (As — At) / Q
Ca = BIIMNEE 5 (ug/m Q = EEAAMEZL)
As = Alze| ZF(ng) At = i ZAIZ 2 S (ng)
& (5.873 = 0) ng x ug/10"3 ng + (2.12 { x w/10°3 ¢) = 2.8  ug/m
g 2 (6.489 - 0) ng x ug/10"3 ng + (2.12 { x w/1073 ¢) = 31 ug/m
EF0l 1 (1925.963 - 0) ng x uxg/10°3 ng + (2.12 £ x m/10™3 &) = 906.7 ug/m
EF 2 (1869.626 — 0) ng x uxg/10°3 ng + (2.12 ¢ x m/10™3 £) = 8801 ug/m
Of| ! &l I 1 (47.406 - 0) ng x wg/10°3 ng + (2.12 £ x m/10°3 {) = 22.3  w/m
Of| SR 2 (46.817 - 0) ng x wg/10°3 ng + (2.12 £ x m/10°3 {) = 220  w/m
Rtz 1 (61.948 - 0) ng x /10”3 ng + (2.12 £ x m/10°3 {) = 29.2  ug/m
Al 2 (59.277 - 0) ng x wg/10°3 ng + (2.12 £ x m/10°3 {) = 27.9  w/m
AE[3 1 (48.533 - 0) ng x /10”3 ng + (2.12 £ x m/10°3 {) = 22.8  w/m
AE|3 2 (44.204 - 0) ng x /10”3 ng + (2.12 £ x m/10°3 {) = 20.8  uwg/m

(4/9)




SHITHE YUX|T BOZY SHICIF BEF
HEH - HeHS 40 - 023
1055 26015
HERE 20.5 °C [ERSa= 50.7 % RS e 1003.7 hPa
NCEED
EdRY Q = Qm=*(273+25)/(273+t)*P/1013.25 = 21%298/(273+20.5)*1003.7/1013.25 = 2112 L
Qm =  AH FAFEL) t = =HAl 25(C) = =X Al 7|2 (hPa)
EHEE Calug/m) = (As = At) xV / Q
Ca = S7IMNEE SE(ug/m Q = ESAAMEHL) = 5mL
As = A =22 E2Hng) At = i A A2 S2(ng)
2|50 = 1 (0.1721 - 0.0032) ug/ml x 5 mf + (21.12 £ x m/107°3 ) = 40.0  ug/m
oo stol= 2 (0.1722 - 0.0032) ug/ml x 5 mf + (21.12 £ x m/107°3 ) = 40.0  ug/m
EdRY Q = Qm=*(273+25)/(273+t)*P/1013.25 = 2.1%298/(273+20.5)*1003.7/1013.25 = 2.1 L
Qm = AH ZAREL) t = =HAl 25(C) = =X Al 7|2 (hPa)
EYdsE Calug/m) = (As — At) / Q
Ca = BIIAMNES SE(ug/m Q= ESAAMEHEL)
As = Alze| ZF(ng) At = i ZAIZ 2 S (ng)
HHIE A (6.372 = 0) ng x #g/10"3 ng + (2.11 £ x m /1073 {) = 3.0 g/ m
HIE 2 (9.748 — 0) ng x xg/10"3 ng + (2.11 £ x m/1073 {) = 4.6 g/ m
=50 1 (2467.989 - 0) ng x wxg/107"3 ng + (2.11 £ x m/107™3 £) = 1168.5 ug/m
=5 2 (1199.709 - 0) ng x /1073 ng + (2.11 £ x m/10™3 ) = 568.0 ug/m
Oof &t A (563.219 - 0) ng x xg/10"3 ng + (2.11 £ x m/1073 ¢) = 25.2  ug/m
off I 2 (24.372 - 0) ng x xg/1073 ng + (2.11 £ x m/1078 ¢) = 1.5 ug/m
Al 1 (65.058 — 0) ng x /1073 ng + (2.11 £ x m/1073 ¢) = 30.8  ug/m
A 2 (29.952 - 0) ng x xg/10™3 ng + (2.11 £ x m/1073 ¢) = 14.2  pug/m
A3 1 (38.747 - 0) ng x /1073 ng + (211 £ x w/10°3 §) = 183  u/mw
AE[E 2 (15.25 = 0) ng x xg/10"3 ng + (2.11 £ x m /1073 1) = 7.2 g/ m

(5/9)




SHITHE YUX|T BOZY SHICIF BEF
HEH - R e 40 - 023
1065 302%
HEes 20.3 °C HELE 43.4 % HETIY 1013.1 hPa
NCEED
syd= Zdistol= =& g 2,4-DNPHR =4 3t HPLCE2A
(SHIMADZU HPLC LC-20A)
EdRY Q = Qm=*(273+25)/(273+t)*P/1013.25 = 21%298/(273+20.3)*1013.1/1013.25 = 21.33 L
am =  AF AR t = EHA 25(C) = =X A| 7|2H(hPa)
EX¥SE Ca(ug/m = (As — At) xV / Q
Ca = S7IMNEE SE(ug/m Q = ESAAMEHL) = 5mL
As = A =22 E2Hng) At = i A A2 S2(ng)
2|50 = 1 (0.084 — 0.0032) wg/mf x 5 mf = (21.33 £ x m /1073 {) = 18.9  ug/m
oo stol= 2 (0.0844 - 0.0032) ug/ml x 5 mf + (21.33 £ x m/1073 ) = 19.0  pug/m
EYRE Q = Qm=*(273+25)/(273+t)*P/1013.25 = 2.1%298/(273+20.3)*1013.1/1013.25 = 2.13 L
am =  AF FAR(L) t = EHA 25(C) = =3 A| 7|2H(hPa)
EYdsE Calug/m) = (As — At) / Q
Ca = BIIMNEE 5 (ug/m Q = EEAAMEZL)
As = Alze| ZF(ng) At = i ZAIZ 2 S (ng)
HHIE A (7.831 — 0) ng x #g/10"3 ng + (2.13 £ x m /1073 {) = 3.7 g/ m
HIE 2 (7.261 — 0) ng x x#g/10"3 ng + (2.13 £ x m /1073 {) = 3.4 g/ m
=50 1 (2035.601 = 0) ng x wxg/107"3 ng + (2.183 £ x m/107™3 ) = 954.2 ug/m
=5 2 (2026.188 — 0) ng x wxg/10"3 ng + (2.183 £ x m/10™3 ) = 949.8 ug/m
Oof &t A (49.848 — 0) ng x /1073 ng + (2.13 £ x m/1073 ¢) = 23.4  ug/m
off I 2 (46.89 — 0) ng x #g/10"3 ng + (2.13 £ x m /1073 1) = 22.0  ug/m
Al 1 (65.624 — 0) ng x wxg/1073 ng + (2.13 £ x m/1073 ¢) = 30.8  ug/m
A 2 (61.685 — 0) ng x /1073 ng + (2.13 £ x m/1073 ¢) = 28.9  ug/m
AE[2 1 (63.536 — 0) ng x /1073 ng + (2.13 £ x m/1073 ¢) = 29.8  ug/m
AE[E 2 (52.686 — 0) ng x wxg/107"3 ng + (2.13 £ x m/1073 ¢) = 24.7  ug/m

(6/9)




ST YUY T BOE BAICIE BEF
EH
oy
o my Beus 40 - 023
1073 1303=
HE2E 20.7 °C RS 45.6 % RS e 1008.6 hPa

NEEED

2,4-DNPHF =& 2t HPLCEA{ ™

e Sadistol= S8 (SHIMADZU HPLC LC-20A)
HqrE Q = Qm=*(273+25)/(273+t)*P/1013.25 = 21%298/(273+20.7)*1008.6/1013.25 = 21.21 L
AN E L) t = ZXA 2Z(7C) P = Z™A| 7| (hPa)
EYsE Calug/m) = (As — At) xV / Q
FIIMNEE 5= (ug/m) Q = SEJAAMZZL) Vo= 5mL
= Alze| ZF(ng) At = i Z Al Z 2 S (ng)
ol 5tol = 1 (0.097 - 0.0032) wg/mf x 5 mf = (21.21 £ x m /1073 {) = 22.1 g/ m
Histol= 2 (0.0931 - 0.0032) ug/ml x 5 mf + (21.21 ¢ x m/107°3 ¢) = 21.2  ug/m
EdRY Q = Qm=*(273+25)/(273+t)xP/1013.25 =  2.1%298/(273+20.7)*1008.6/1013.25 = 2.12 L
AN E L) t = ZXA 2Z(7C) P = Z™A| 7| (hPa)
E¥sE Calug/m) = (As — At) / Q
FIIMNEE 5= (ug/m, Q = EEAMNZZL)
AlZ2| 2 (ng) At = i A Al 22 Z2(ng)
HHIE A (4.909 - 0) ng x #g/10"3 ng + (2.12 £ x m /1073 {) = 2.3 g/ m
HIE 2 (5.842 — 0) ng x x#g/10"3 ng + (2.12 £ x m /1073 {) = 2.8 ug/ m
=50 1 (1218.419 - 0) ng x /1073 ng + (2.12 £ x m/10"™3 ) = 5745 ug/m
=5 2 (1332.847 - 0) ng x uxg/107"3 ng + (2.12 £ x m/10"™3 ) = 628.4 ug/m
Oof &t A (21.852 — 0) ng x xg/1073 ng + (2.12 £ x m/1073 ¢) = 10.3  pug/m
off I 2 (22.728 - 0) ng x wxg/1073 ng + (2.12 £ x m/1078 ¢) = 10.7  ug/m
Al 1 (29.673 - 0) ng x /1073 ng + (2.12 £ x m/1078 ¢) = 14.0  pug/m
A 2 (31.608 — 0) ng x /1073 ng + (2.12 £ x m/1078 ¢) = 14.9  pug/m
ENSETR (7.758 — 0) ng x x/10°3 ng + (212 £ x m/10°3 §) = 3.7 ulw
ENSEI (8.444 — 0) ng x w/10°3 ng + (212 £ x m/10°3 §) = 40 g/

(7/9)




sHAlZYE LT T BOSY SHIHE BEF
HEH - R e 40 - 023
108E 3012
sx2T 20.2 °C HYEE 11 % HET|Y 1013.1 hPa
AlgZ
EHRY Q = Qm=*(273+25)/(273+t)*xP/1013.25 =  21%298/(273+20.2)*1013.1/1013.25 = 21.34 L
= A FelFE(L) t = E=™A 2%(T) P = =X Al 7|2 (hPa)
EHEE Calug/m) = (As = At) xV / Q
FIINEE 5Z(ug/m) Q = EEAMRZ(L) Vo= 5mL
= Al22| Z&(ng) At = i @Al 22 Z2(ng)
Hs0|= 1 [(0.0806 — 0.0032) ug/ml x 5 md + (21.34 £ x m/10™3 £) = 181  ug/m
otH|5t0|= 2 [(0.0808 — 0.0032) ug/ml x 5 md + (21.34 £ x m/10™3 0) = 182  ug/w
EXeH Q = Qm=(273+25)/(273+)xP/1013.25 =  2.1%298/(273+20.2)%1013.1/1013.25 = 213 L
= A Fel (L) t = E=™A 2%(C) P = =X Al 7|2 (hPa)
EYdsE Calug/m) = (As — At) / Q
BIIMNEE 5= (ug/m, Q = ESAAMEHEL)
Alze| ZF(ng) At = i ZAIZ 2 S (ng)
£ 1 (5.708 = 0) ng x u#g/10"3 ng + (2.13 £ x m/1073 0) = 2.7 uglm
gl 2 (6.632 — 0) ng x u«g/10"3 ng + (2.13 £ x m/1073 0) = 31 ug/m
E=0l 1 (1049.819 - 0) ng x /10”3 ng + (2.13 £ x m/10™3 £) = 491.9 ug/mw
E=0 2 (1033.083 - 0) ng x xg/10™3 ng + (2.13 £ x m'/10™3 £) = 4841  ug/mw
Of| S Il 1 (22.04 - 0) ng x ug/10"3 ng = (2.13 £ x m/10°3 4) = 10.3  ug/m
Ol 2RIl 2 (22.204 - 0) ng x /10”3 ng + (213 £ x m/10°3 {) = 10.4  ug/m
WNETE (33.308 - 0) ng x /10”3 ng + (2.13 £ x m/10"3 {) = 15.6  ug/m
xpda 2 (31.202 - 0) ng x /10”3 ng + (213 £ x m/10°3 {) = 14.6  ug/m
2E[3 (13.803 - 0) ng x /10”3 ng + (2.13 £ x m/10"3 {) = 6.5  ug/m
~E|™ 2 (17.987 - 0) ng x /10”3 ng + (2.13 £ x m/10"3 {) = 8.4  ug/m

(8/9)




ST YUY T BOE BAICIE BEF
EH
oy
o my Beus 40 - 023
108 2304%
HE2E 20.6 °C RS 43.9 % RS e 1006.4 hPa

NEEED

2,4-DNPHF =& 2t HPLCEA{ ™

chos ks REEE (SHIMADZU HPLC LC-20A)
M Q = Qm=*(273+25)/(273+t)*P/1013.25 = 21%298/(273+20.6)*1006.4/1013.25 = 2117 L
A FelFE(L) t = E=™A 2%(T) P = =X Al 7|2 (hPa)
EYdsE Calug/m) = (As — At) xV / Q
FIIMNEE 5= (ug/m) Q = EEAANZZHL) vV = 5mL
= Al22| Z&(ng) At = i @Al 22 Z2(ng)
ol 5tol = 1 (0.1099 - 0.0032) ug/ml x 5 mf + (21.17 £ x m/107°3 ) = 25.2  ug/m
Hstol= 2 (0.1124 - 0.0032) ug/ml x 5 mf + (2117 £ x m/107°3 ) = 25.8  u/m
EdRY Q = Qm=*(273+25)/(273+t)*P/1013.25 = 2.1%298/(273+20.6)*1006.4/1013.25 = 2.12 L
A Fel (L) t = E=™A 2%(C) P = =X Al 7|2 (hPa)
EYdsE Calug/m) = (As — At) / Q
FIINEE SZ(ug/m, Q = EEAMRZ(L)
Alzo| S (ng) At = i ZAl 22| S (ng)

Bl A (6.246 - 0) ng x xg/10™3 ng + (2.12 £ x m/1073 §) = 3.0 ug/ m
B 2 (4.978 = 0) ng x xg/10™3 ng + (2.12 £ x m/1073 §) = 2.4 ug/ m
SFAU A (1049.016 - 0) ng x ug/10™3 ng + (2.12 £ x mw/10™3 £) = 4955 ug/m
SFAU 2 (1014.265 — 0) ng x wg/10™3 ng + (2.12 £ x w/107™3 £) = 4791 ug/m
of Il A (19.828 - 0) ng x wg/10™3 ng + (2.12 4 x m/1073 §) = 9.4 g/ m
o EHlA 2 (17.725 = 0) ng x xg/10™3 ng + (2.12 4 x m/1073 4) = 8.4 g/ m
Apdl 1 (27.476 - 0) ng x wg/10™3 ng + (2.12 4 x m/1073 §) = 13.0  wg/m
A 2 (23.219 = 0) ng x xg/10™3 ng + (2.12 4 x m/1073 §) = 1.0 wg/m
2E[3 1 (9.396 - 0) ng x xg/10™3 ng + (2.12 4 x m/1073 §) = 4.4 ug/m
AE[E 2 (7.713 = 0) ng x xg/10™3 ng + (2.12 £ x m/1073 §) = 3.6 ug/ m

(9/9)
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